REGULAR INSTALLATION

EXPERIENCE AND

INNOVATION

FHC The Glazing Supply Company CLOSER MOUNTED ON

PULL SIDE OF DOOR

2 Holes for #14
All-Purpose or 1/4-20
(M6X 1.0) Machine Screws.

11/16"

1-15/16"

I

* 10-13/16"

11/16" L

4Holesfor#14 —

All-Purpose or 1/4-20
(M6X 1.0) Machine Screws.

VALVE

MAIN SPEED
VALVE

DELAYED ACTION
VALVE K
BACKCHECM

VALVE

ROD

g

3

COVER
SCREWS

1 1

* 6-1/4"

NOTE: DOOR OPENINGS TO 120° - CONDITIONS PERMITTING.

1. Adjust spring power to match door width as indicated by chart on front page.
2. Mount closer on door as dimensions shown. Tube end toward hinge. If pivots are used,
locate closer and shoe from CENTERLINE OF PIVOT.
(For offset pivots, increase the marked dimensions by 1/8" (3 mm)
3. Place main arm on top of shaft, 100° to closer body, insert arm screw into top of shaft and tighten.
4. Attach shoe to frame as shown. (If more latching power is required, rotate shoe 180°.)
5. Open door and insert rod in forearm.
6. With forearm at right angle to door (90°), insert forearm set screw and tighten. (IF HOLD OPEN
ARM IS USED, THE NUT IS ON THE TOP FOR RH DOOR AND BOTTOM FOR LH DOOR)

REGULATION

A 'Normal' closing time from 90° open position to door stop position is 4 to 6 secs, evenly divided
between main swing speed and latch swing speed. Use hex key (furnished) to adjust speed.

To slow main speed of door, turn regulating valve nearest shaft clockwise. To slow latch speed,
turn regulating valve nearest hinge clockwise.

BACKCHECK
To increase backcheck force, turn regulating valve nearest hinge clockwise. DO NOT USE ABRUPT
BACKCHECK OR ALLOW DOOR CLOSER TO ACT AS A DOOR STOP.

COVER
Place insert in proper cutout, then push over aganist door frame. Tighten both cover screws securely.

TOP JAMB INSTALLATION

FHC

EXPERIENCE AND

INNOVATION

The Glazing Supply Company ¢ 0SER MOUNTED ON
PUSH SIDE OF DOOR

4 Holes for #14
All-Purpose or 1/4-20

» (M6X 1.0) Machine Screws.

6-5/16"

11/16"

. 2 Holes for #14
116 l—mll-wrpuse or1/4-20
(M6X 1.0) Machine Screws.

BACKCHECK
VALVE

DELAYED ACTION
VALVE

}~— 1-15/16"

10 3/4"

1L

NOTE: DOOR OPENINGS TO 120° - CONDITIONS PERMITTING.

1. Adjust spring power to match door width as indicated by chart on front page.

2. Mount closer on door as dimensions shown. Tube end toward hinge. If pivots are used,
locate closer and shoe from CENTERLINE OF PIVOT.
(For offset pivots, increase the marked dimensions by 1/8" (3 mm)

3. Place main arm on top of shaft, 100° to closer body, insert arm screw into top of shaft and tighten.

4. Attach shoe to frame as shown. (If more latching power is required, rotate shoe 180°.)

5. Open door and insert rod in forearm. - For reveals of 2-7/16" to 4-5/8" (62 to 117 mm).
Use optional Extended Arm Rod No. SMOOXTA

6. With forearm at right angle to door (90°), insert forearm set screw and tighten. (IF HOLD OPEN
ARM IS USED, THE NUT IS ON THE TOP FOR RH DOOR AND BOTTOM FOR LH DOOR)

REGULATION

A 'Normal' closing time from 90° open position to door stop position is 4 to 6 secs, evenly divided
between main swing speed and latch swing speed. Use hex key (furnished) to adjust speed.

To slow main speed of door, turn regulating valve nearest shaft clockwise. To slow latch speed,
turn regulating valve nearest hinge clockwise.

BACKCHECK
To increase backcheck force, turn regulating valve nearest hinge clockwise. DO NOT USE ABRUPT
BACKCHECK OR ALLOW DOOR CLOSER TO ACT AS A DOOR STOP.

COVER

FOREARM 3 SCREW
SCREW J @f Place insert in proper cutout, then push over aganist door frame. Tighten both cover screws securely.
5 HOLD OPEN ADJUSTMENT ( When hold open arm is used) .
Loosen adjusting nut, open door to desired hold open position tighten nut. Do not permit door to HOLD OPEN ADJUSTMENT ( When hold open arm is used)
swing while hold open is set. Loosen adjusting nut, open door to desired hold open position tighten nut. Do not permit door to
MAIN ARM swing while hold open is set.
Page 2 Page 3
| abeq 1 abed

INIHILY

INIS0TI

NIFHIAIVE

NOILIY G3AV13a
JINVH T0HLINOD

INJNLSNray
H4IMOd INIHdS

ASIMMI0TI
SNHNL S «09 8Y
ISIMMI0TI
SNHNL O} WS ey
ISIMMI0TI
SNYNLS «8v 98
138 AHOLIV4 8¢ .0€
gﬂgﬁ 4000 3SIMID0TD "HIND
LHOI (ﬂ;ﬁl SNHNLZ R4 49-9168
3SIMYI07 "HIND Q3ANIWIW0IIY LON
/-l I-\ SNYNLS 49-916
SH00d sH00a
sﬂi‘#ﬂ?ﬁ ] HOIMILNI HOIH3LX3
4000 40 ANVH ININY3130 0L MOH HLGIM H00T WNWIXYI
(3a1s HSNd) (3aIs HSNd) (3a1s 11nd)
INNOW T1371TvdYd INNOW 9INVr dO1 INNOW HY1N93Y

SNOILINYLSNI NOLLYTTVLSNI

43S01J H00d
S314ISO6INS

NOILVAONNI

ANVAWOO JHYMAHVH SSTTINVHS

ANV 3ION3IIH3ILIX3

Auedwo) Aiddng Buize|n ay

SJH4

18s S| uado pjoy ajiym Buims

0} J00p Jwiad Jou oQ Inu uay b uosod uado pjoy paiisap 0} Joop uado ‘ynu Bunsnipe ussoo

(pasn si wie uado pjoy usym ) INJWLSNrAY N3O A10H

"A181N23$ SM219S 18A00 Uj0q UsIyBi| “auely Joop isiuebe Jano ysnd uay} ‘inoina Jadold ui Lasul aoe|d

MIHIS INTYA
40103138
HOTHINIYE

ANTVA
o 033dS HILY1

H3N0D INTA
033dS NIVIV
'd01S H00d Y SV LIV 0L 143S0TI H00d MOTTY 4O MIFHINIVE INTVA INTYA
1dNYEY 3SN LON 0Q "8SIM400}0 8BuIY 1Sa1eau aAleA BuijenBas LN 8010} Y98Uaxoeq 8Sealou] o) H23IHINIVE 0LLDY G3AV130

‘paads U2Je| MOIS O] "8SIMYI0]D JBYS }Saleau aajen Buiyeinbal uiny 1oop Jo paads urew mojs op
“paads 1snipe 0} (paysiuiny) Aay xay asp "paads Buims yaze| pue pasds Buims Ulew uaamiaq
PapIAIp Ajusns ‘sa8s 9 0} ¢ sI uolsod dols Joop 03 uoisod uado .06 Wouy sy BuISold [BWION, Y

ONY H00Q Y H04 dOL 3HL NO SI LN 3HL ‘G3SN SI WYY N3JO Q10H 41) "uslybi pue maios

NIFHINIVE

"8S1M20]0 8BUlY 1Sa1eau AjeA BunyeinBas uiny

NOLLYTN93Y &=

M3IHIS / /_ 30Hs

[LEVEEDE]

(4000 AT 404 NOLLOG

19S WIB3I04 LIasU| UaY | *J00p O} [3|eJed JaS0[o O} LLLIB UfeL LiaSul USL} PUe ‘LUIBsI0) Ul PO Hasu| "/

“UMOUYS SUOISULWLIP SB BLLIBI) UO 18X2eIq [3|[eled YIBNY ‘G
‘uajybn pue 1eys Jo doy OJuI M8IIS LLIB LasUl ‘Yeys Jo doj uo wie urew

90e|d UBY} puB ,0E IN0GE qLUE[ 8BUIY PIBMO} UIN} PUB JeyS WOROq U0 yousim pus usdo adeld 't
"10AId 40 INITYILNI] LI §85j0eIq [3]jesed pue 18S0j0 8}eao|

‘pasn aie SJoAld J| “Yaje| pABMO} pua 8qn| “UMOYS SUOISUSLUIP SB JOOP U0 JasO|d JUNo € |

“abed Ju01) UO LRYD AQ paleaIpUl S Yipim Joop yajew o} Jamod Buuids isnlpy g

“UMOUS SE 18Y0e1q [9][eJed 0} B0US pUE POJ YOBHY '9

M3IHIS WEY
JEYRIEE]
RELLVELL]

“(3S1MN20719) NI AVM JHL T1V (1asojd

40 apis ays0ddo 8uj U0 PuNOJ) BAIBA 10J08[8S YBUINORG LN} ‘(LLLIE [3]jesed) ‘UONE|[eISUl 810jag “|

"ONILLINYId SNOILIANOD - .081 OL SININIJO HOOQ -3LON

S

W2/1-9| 081 . . “SMaJ9S a"!u"wd (0°1 X9W)
ul u 02-%/1. 10 asodingd-||y
W8 |02k e w ‘ pL# 10} S3|0H
4&/1-6 | 06 i i
| m—
“ i
N N
W2
_J

7&; ® %\_ﬂ
*smalag auyaep (0°L X9IN)

W91/5-2 ( ; 02-t/1 10 asoding-||y
L .¢' + VL4 10) S3I0H 2

“SM2I9g aulyae|y (0°1 X9IN) A

o |
02-t/L 10 asoding-|Iy
YL 10} SBI0H § —-rgfa@--!‘l/l'l@ w ..I[/S-L

L1081 ¥
0L o2k
WL 406 V

4

Yo o s 8

OHLEL 9L QUL

4000 10 3aIS HSNd

NOG;J-N"OWHJSO-IO NOILVAONNI ANV 3IJON3IH3IdX3

NOILYTTVLSNI
INHY 1371VHYd

Auedwo) Aiddng Buize|n ay

ANVAINOD JHVMAHVH SST1INVHA

JH4




